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[i]' sin 187

cos72°
_ sin 18° _ cos{90°-18") Iiaﬁﬁa,— fﬂS(g'ﬂu _ H} — EiI"IE]

cog 72" cos 72"

(iii). cos 48° — sin42°  (iv). cosec 31° — sec 59°

_ cosTa" _
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tan26* _ cot{90°=26")

cot64®  cot64”

[ﬂzﬁﬁf cot(90° = §) = tan 9‘]
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(iii) cos 48° — sin 42°
cos 48° — sin 42° = cos 48° — cos(90° — 427) iaqjﬁ cos(90° — 8) = sin E]
=cos48° — cos48° =0

(iv) cosec 31° — sec 59°
cosec 31° — sec59° = cosec 31° — cosec(90° — 59°) [Effma? cosec(90° — 8) = sec E'I

= cosec31° — cosec31° =0

M3 2.

feamsu i

(i). tan48°tan 23° tan 42" tan 67° = 1

(ii).cos 3B°cos 52° — 5in 38°s5in 52° = 0

g3 2:

(i). tan48°tan 23°tan 42" tan 67" = 1

diH U4 = tan 48° tan 23° tan 42° tan 67°

= tan 48° tan 23° cot(90° — 42°) cot(90° — 67°) [Elzﬁﬁli cot(90° — 6) = tan 9]
= tan 48° tan 23° cot 48° cot 23°

1
= tan 48° tan 23° x a8 ¥ an 337
=1
= Q1T Uy
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(ii).cos 38" cos 527 — 5in 38" 5in 52° =
dlH U&l = cos 38° cos 52° — sin 38" gin 52°
= cos 38° cos 52° — cos(90° — 38°) cos(90° — 52°) [Eﬁﬂﬁ? cos(90° — #) = sin E]
= cos 38° cos 52° — cos 52° cos 3B°
= () = Qa1 Ui

X3 3:

g tan 24 = cot(A — 18°), T8I 24 TP g HI g, At A BT AF F1d Sifod|
#F 3T 3:

fem 8 tan 24 = cot(4 - 189

= cot(90° — 24) = cot(A — 18°) [a?ffﬁ? cot(90° — @) = tan a]
=90°—24=A-18°

= 90° + 18° = 34

= 34 = 108°

= A = 36°

e, A = 36°

M3 4.

Tfe tan A = cotB, @ fag Pt e 4+ B = 90°
#3307 4:

E'EIT% tan A = cotB

= cot(90° — A) = cotB lﬁﬁ'& cot(90° — @) = tan E]
=90°—-A=ER
=290"=A+8

IO, 4 + B = 90°

A3 5:

gfe sec 44 = cosec(A — 20°), Bl 44 ﬁ“ﬁ‘ﬁ%?ﬁﬂﬂﬂmﬁﬁml
#.3W 5:

ﬁ'ﬂT% sec 4A = cosec(A — 20%)

= cosec(90° — 44) = cosec(A — 20%) [ﬁxﬁ% cosec(90° — 8) = sec EI
=90"-44 =4 - 20"

= 90° + 20° = 54
=54 =110°
= A = 22°

R, A = 22°
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g A, B 3R ¢ B ABC & diq: o g, 91 feamsy &

) (E+E)_ A
sin| ——) = cos 3

P 3T 6
dlH Y& = sin (E)

2

= sin (*22) |ifs A + B + ¢ = 180°]

A
= sin (9[}” = E)
= cnsg [Etﬂ'& sin(90° — 8) = cos Ei'l
= Qa1 U8

HH T

sin 67° + cos75° @ 0° 3R 45° & d9 & S0 & FS UM U & U2 H e
HifeIy |

FIm 7:
BH &0 & o sin@ = cos(90° — 8) 3R cos @ = sin(90° — 6)
MY, sin 67° + cos75°

= cos(90° — 67°) + sin(90° —'75°)
= cos 23° 4+ sin 15°
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